2RXS J224228.3-632015

gamm*meka

932832 0131

S

= g1 T TN [+

T 7 T8

= = S =
(A93 s zwd)/suojoyd

I LA [TTTT T T 1 [TTTTT]

S

o
o

i

(A9

-~
|
o

L |

s)/sjuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

— o <
g3
= = =
[aV] o o~
¥ o o
-~ — <
| | |
+ + +
~— 2V} a — <
T T 9?9
=1 = [£3] = [
a n wn o (]
N o = o 0
[aV] — A — [Te]
Il
[} Il
-—
© — ]
S ] >
o x| < E
g 2 = — 9
[72] = -4 [ z
TTT[TTTT[TTITT[TITT[TTTI[TTT

RN RRRRURRET]

pulinlng

N — o — Q

s[enpisay

1.00

0.10

X2req = 1.086

Energy/keV



